11-1000 Optical Upgrade

@\Q\ 09-7011
Fo o
04-87@ \‘,' '
|

2 B

11-0014
11-0821C

11-7007
11-0833

I T i i @ 11-0007
: g ; l . S ©
U

80-25125Sx8  80-0306SSx4  80-0308SSx2  80-0312SSx4  80-0320SSx6 ~ 80-25065Sx4  91-0025x8 11-7055



Part no.
04-8703
09-7011
11-0006
11-0007
11-0014
11-0821C
11-0833
11-7007
11-7055
11-7200
14-2010
80-0306SS
80-0308SS
80-0312SS
80-0320SS
80-2506SS
80-2512SS
91-0025

Des

Quick Releaser Button

Canopy Mount Break-off
Reinforcer Front

Reinforecer Back

Strute Washer

Landing Gear Connector

Strutes

Tail Fin

Plastic Spacer

Canopy

Quick Releaser Mount

Cap Head Stainless Bolt M3x6
Cap Head Stainless Bolt M3x8
Cap Head Stainless Bolt M3x12
Cap Head Stainless Bolt M3x20
Cap Head Stainless Bolt M2.5x6
Cap Head Stainless Bolt M2.5x12
Nylon Nut M2.5

Quantity
4

OO Pr~rOPNPEPRAEAELPNENEDNNNDDN

For updated version of Chronos and Upgrades Manual please check the following address:
www.compassmodel.com/download_chronos/7HV_to_Chronos_optical_upgrade.pdf
www.compassmodel.com/download_chronos/7HV_to_Chronos_technical_upgrade.pdf

www.compassmodel.com/download_chronos/Chronos_manual.pdf






